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8.1
1. Put the following numbers in ascending order.
4 6
- 1.29 9 .
: b | |85% ;

2. Put the following numbers in descending order.

3
1§ 924x107 T 1457x10° ~J225

3. Place the following numbers on the number line.

V56

-8.2587..
T
7.99524...

—/85
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4. Which set of numbers are listed in descending order?

A. ~66%,-0.45, —%, 1.8

B. —66%,—%,—0.45,1.8

C. 18, —66%,-0.45,—%

D. 1.8, —% ,—0.45,-66%

5.  Which number line correctly represents the irrational numbers listed below?
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8.2

1. Write the following labels in the appropriate box to best represent the subsets of the real
number system,

Rational Whole Irrational Natusal iegert
Numbers Numbers Numbers Numbers

Reat Numbers

2. Fill in the blanks to make a true statement about 0.333... (choose from the choices below)

This is a{n) since it can be

1
expressed as %

repeating decimal

terminating decimal

irrational number

rational number

4%
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3. Sort the following list of numbers into rational and irrational numbers.

021953 12 0 4285... —87 —4% 9.131313.. 7
Rational Numbers Irrational Numbers

4. Write the letter of each definition next to the corresponding subgroup of the real number

system.
_Natural Numbers A. the set of whole numbers and their opposites {...—2,-1,0,1,2...}
____Whole Numbers B. the set of counting numbers and zero {0,1,2,3...}
____Integers C. the set of all nonrepeating, nonterminating decimals
{7,123233,42}
____Rational Numbers D. the set of counting numbers {1, 2, 3,4...}
____Irrational Numbers E. the set of all numbers that can be expressed as fraction in form

%, where a and b are integers and b does not equal zero

{2.442...,75%,%,4@ }
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5. Identify which statement is false.

The product of two rational numbers is rational.

The sum of a rational number and an irrational number is irrational.

The sum of a rational aumber and an irraticnal number is rational.

The product of a nonzero rational number and an irrationat number is irrational.

6. Which Venn diagram best represents the following sets of numbers?

J81, 27, 46, J11

A

Rattonal  Integer

Isrational V&1

Rattonal  Integer

frrational \rﬁ

Rational  Integ

frrational V11

Rational  Integer

Terational 4.6
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7. Which of the following can be defined as an integer, but not a whole number?

A —% B. —20 o e D. -13.1

8. The number 3.7 is best described as —

a rational number
an integer

a whole number

an irrational number

COowp

9. Which is a true statement concerning the rational number % ?
A. This number can be expressed in the form %, where a and b are integers and b#0.
B. This number cannot be expressed in the form %, where a and b are integersand b#0.
C. This number can be expressed in the form %, where a and b are integersand 5=0.

D. This number cannot be expressed in the form %, where a and b are integers and b=0.

10. Which of these is a rational number?

A 2

B. 0.414114...

C. 5
D. —6.060606
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8.3ab

1. The square root of 130 falls between which two consecutive numbers? Select two answers
from the choices below.

-13 12 15 -11 -12 -15 11

2 J3OO falls between which two sets of consecutive numbers?

16 and 17 15 and 20 17 and 18 10 and 30

-10 and -30 299 and 301 -16 and -17 -17 and -18

3. The square root of 170 falls between which two consecutive whole numbers?

and

4. Which of these best represents J2_4 7 A number between —

A. 4and 5
B. S5and 6
C. 6and7
D. 8 and 9

5. Between which two consecutive numbers does —+/50 lie?

-4 and -5
-5 and -6
-6 and -7
-7 and -8

vaw»
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6. What are the square roots of 121? Select two answers from the choices below.

-13 12 15 -11 -12 -15

7. Which best represents J256 2

4 and 64
8 and 32
-16 and 16
-18 and 18

COowp»

Virginia Department of Education 2018

Virginia Department of Education 2018




2016 Mathematics Standards of Learning

—

. There were 350 apples on the tree in March. By September there were 420 apples
on the tree. What was the percentage of change of apples on the tree? Round your
answer to the nearest tenth.

. A swim coach charges $50 for each half-hour lesson.

Select the statements that correctly match this ratio.

She charges She charges $25 | She charges $150
$100 for each for each one for each two hour
one hour lesson hour lesson lesson
She charges
She charges $100 for each She charges $150
A for each hour and
$150 for each fifteen minute
1 a half lesson
esson

. Liam puts $800 in a savings account at an annual interest rate of 2%. If Liam does
not withdraw or deposit any money, what is the interest that Liam will earn at the
end of six months?

A. $2

B. $4
C. $8
D. $16

. A soccer team won 11 games last year. This year they won 13 games. What was the

percent increase in the number of games won?
A. 2%

B. 15.4%
C. 18.2%
D. 84.6%

Virginia Department of Education 2018



. Brittany bought a dress that cost $22.50. If the sales tax is 6.5%, how much tax did

she pay?
A. $1.46
B. §1.47
C. $23.96
D. $23.97

. Roy bought running shoes for $44.98. If the sales tax is 7%, how much did he pay in

total?
A. $3.14
B. $3.15
C. $48.12
D. $48.13

Virginia Department of Education 2018
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8.14a

1. What is the value of -;—(x+8)—xy+z whenx=4,y=-12, and z = -20?

2. James evaluated the following algebraic expression.
Jli_i—:;L whenx=5and y = -2
His work is shown here.

|2x - y|
5 +2y

12(5)~(-2)|
J35(5) +2(-2)

|2(5) -2|
J5(5) +2(-2)
|1 0- 2|
J3(5) +2(-2)
il
J5(5) +2(-2)
— N —
J3(5) +2(-2)
Sl
V25+2(-2)
8
5+2(-2)
8

5+(-4)

8

2-38

1
James made a mistake while evaluating this expression. Identify his mistake and rework
the problem to obtain the correct answer.

Virginia Department of Education 2018
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3. What is the value of 4n(n=+2)’ when n = -8?
A. -2048
B. -384
C. 384
D. 2048

4., What is the value of p.\/q—r whenp=3,g=17,and r = 87
A3
B. 9
C. 15
D. 27

2
5. What is the value of U"]’c“# when k = -2?
+

A.
B.

N njw W= Y4
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Simplify the algebraic expression, %(Sx +6)— %(63: -3).

Answer:

Select all the expressions that would be equivalent to —3x +10 when completely
simplified.

~6x+16 =3(=x+3)=x+1
2

%(—6x+15) x5

2+

20(x+4)-5x+2

Simplify the algebraic expression, —2(x +7)-3(4-2x) .

Answer:

Simplify the algebraic expression.
~9(-8p+12)—6p
-14p+3
64p+12
66p-108
126p-108

oowp

Simplify the algebraic expression. %m - % - % m+ %

Virginia Department of Education 2018
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8.15ab

1. Identify all of the true statements.

All relations are functions, but not all functions are relations.

All functions are relations, but not all relations are functions.

In any set of ordered pairs, the second coordinate is called the domain.

A function is a relation between a set of inputs and a set of cutputs with the property that
each input is related to exactly one output

2. The table defines a function.

Changes in Joshua’s Height Per Year
Year 2002 2003 2004 2005
Change in
height (inches) 25 2.25 1.5 0.75

What is the domain of the function?

Virginia Department of Education 2018
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3. Complete the function table below. Then, list all of the domain and range values.

y=x*+1
X Y
-1
1
2
10
Domain:
Range:

. Does the following relation represent a function?
{(1,4),(2,8),(1,12),(3,16)}

YES NO (circle one)

Explain your reasoning.

. Does the following relation represent a function?

X y
-2 -5
0 1
5 -5
9 6

YES NO (circle one)

Explain your reasoning.

Virginia Department of Education 2018
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6. Does the graph below represent a function? YES NO (circle one)

&

Explain your reasoning for your answer.

7. Marissa used the set of ordered pairs below to graph a relation.
{(.9),(2,3),(2,0).(4,2),(3,6)}
What is the domain of the relation?

A. {0,2,3,4,6}
B. {2,3,4)
C. {0,2,3,4}
D. {0,3,6}

8. In the linear equation shown, which variable would represent the output (range) values?

y=mx+b

OOow e
SNEV I N
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9. Alex created a table to represent the function y = 2x + 4. What is the range for this table
of values?

x y
5] 0
0 4
2 8
4 12

10. Which of the following does NOT represent a function?

A. B.
X ¥y X Y
2 1 3 -1
3 4 0 2
0 2 -1 4
1 -3 2 3
-1 0 1 i
C x ¥ D. = =
-1 5 -2 4
2 2 3 -3
5 2 1 2
3 £ -3 4
2 -4 0 1

Virginia Department of Education 2018
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8.16a

1. Draw a sketch of a line that has a slope of zero and describe how you know the slope is
zero.

2 .
flary

1
- -
B f-B-E-d-BL-dy : b-5-1. 3910
=2

¥
12

‘-Ia'.

¥

b (D b

2. Select the two graphs with a negative slope.

EESSA | 1

e e et
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| | 1
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| T |
e
S
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Jok 13 . |
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3. What is true about the equation for the graph shown?

J
4
‘ I
k.
\i\ k|
T
2
y
N L EREREEEE CEEE DR N L S N et

SMEIME I EE e

A. It has a slope of -2.
B. It has a slope of -1.
C. It has a slope of 0.
D. It has a slope of 2.

4. What is true about the slope of the line graphed?

|
!
3
E
H
B I SV I W

21

£

The slope is positive.

The slope is negative

The slope is zero.

The slope cannot be determined.

SCOow»
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5. Which of the following statements is true about the line graphed below?

1=

i

x
e
=

IE
ar
=
él' 3 T i‘&“-
DDk b el | oeb bD D5 oh O 0D
4

¥
2

S oW

The slope of the line is positive because the line is increasing from left to right.
The slope of the line is positive because the line is decreasing from left to right.
The slope of the line is negative because the line is increasing from left to right.

The slope of the line is negative because the line is decreasing from left to right.

Virginia Department of Education 2018
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8.16b

1. The table of values below represents a linear relationship.

1
B
O W] o =

What is the slope and y-intercept for this line?

slope y-intercept

2. The equation y =-4x-10 represents a linear relationship.
What is the slope and y-intercept for this line?

slope y-intercept

3. Choose two true statements about the slope and y-intercept of the linear function shown.

The y-intercept is 2.

The y-intercept is 3.

The y-intercept is -2.

The y-intercept is -3.

i'.'\z..,qm DN The slope is %
R
NN \"\; T T The slope is £y
.:_ ) N h 2
FEEEREES X
_ “feefmt ™ The slope is —%.
|
1 0 il
| The slope is e
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4. Which is an equation for a line with a slope of -4 and a y-intercept of 57

A, y=5x-4
B. y=—4x+5
4
C. y=——2x
Y77
5
D. y=—=
e

5. Which table of values represents a line with a slope of -1 and a y-intercept of 4?

A.
x y
a1 | -5
0 | -1
1 3
B.
x y
4 8
0 4
4 0
C.
x y
1 0 -
0 4
1 -8
D.
x y
4 | 0
0 4
4 8

Virginia Department of Education 2018
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1. Pizza Pies charges $12 for a medium pizza and an additional $0.50 for each topping.
Write an equation to represent the total cost, C, of a medium pizza with ¢ toppings. Then
identify the independent and dependent variables in this situation.

2. Which two scenarios correctly identify the independent variable?

In a daycare the number of kids determines the number of teachers needed. The
number of teachers is the independent variable.

The amount of money Jerry earns depends on the number of lawns he mows. The
number of lawns is the independent variable.

The amount of flour Casey has determines the number of cookies she can make.
The amount of flour is the independent variable.

The number of bows Sarah can make depends on how much ribbon she has. The
number of bows Sarah makes is the independent variable.

The amount of grass seed needed depends on the size of the yard in square feet
the grass seed is the independent variable.

3. Suzanne is starting to babysit to earn extra money. She is charging $15 for each hour that
she babysits. What represents the independent variable in this situation?

oaw»

The total amount charged for babysitting
The rate she is paid per hour

The number of hours she babysits

The number of children she babysits

4. The total cost, ¢, for frozen yogurt depends on the weight, w, in ounces. If Freddy’s
Frozen Yogurt Shop uses the equation ¢ = 0.34w+ 2 to determine the cost of yogurt,
which represents the dependent variable in this situation?

A
B.

C.
D.

0.34
t

2

w

Virginia Department of Education 2018
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1.

2. Plot three points that lie

2016 Mathematics Standards of Learning

Graph the equation y = %x -1.

y

Lo

v b9 £

R R TI

=1

the line y=-3x+2.

=]
w3

wiﬂ&"ﬂ

i 1
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3. What is the equation for the line graphed below?

O

P

g

(e
b

L
ot

sl
...

\
. S

4. Which graph corresponds to y =-2x-17?

Graph A Graph B
g J
‘4 i
N
*14-1‘1 1¢!4‘1’ “1!*&11%1 ||41|¢’t
a" 3
% A TN
Graph C Graph D
j_ i
1 ks
tﬂ%ﬁf-‘i ;"4‘*:«3”2"‘" *‘4%41-; 3 .a?ﬁ"""

-~
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5. Which linear equation best represents the graph below?

b .
I . N U O S O O O
%
. |
. i
5 b & 3 P { t 3 b 6
2
..... ;
|

1
A y=—-—x+2
A
B. y=-2x+2

1
C. y=——x+3
y 2x

D. y=-2x+3
6. Which linear equation represents the same relationship shown in the graph below?

DR I S B S R PR
3 ‘ i — _I

VL ]

i | X
k5 5 4 B 2 b 1 3 & ;_____é'_
Iy \ !

At A

| DEE Be
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Josie is saving money to purchase a new pair of shoes. She has already saved $5 and will
earn $0.50 for each chore she completes. Graph the relationship between number of
chores Josie completes and the total amount she will have saved.

20
18
16
i3
12

10
8
6
4

2

by

X

i

Y

2

k]

i
6 8 10 12 14 16 18 20

What part of Josie’s scenario represents the slope of the line you graphed?
What part of Josie’s scenario represents the y-intercept of the line you graphed?

Virginia Department of Education 2018
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2. A linear function has a slope of 4 and a y-intercept of 3.
A. Write an equation to represent this function
B. Create a scenario to represent this function.

C. Make a table of values with at least 3 ordered pairs that represents this function.

D. Graph this function on a coordinate plane.

¥

l—-l&ib)ulg‘dﬂ

b

¥
-
1,
B
on

b & ot

& 4

]

3. Which graph represents the same linear relationship shown in the table below?

x y
1 5
1 1
2 1
4 5

Virginia Department of Education 2018
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2 -l
s

Which equation represents the same linear function in the table below?

X Yy

1 7

3 15 -
5 23

A y=-x+7

B. y=4x+3

C. y=8x+7

D. y=x+8

Virginia Department of Education 2018
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5. Which table of values is represented by y=3x-27

A.

X y
1 1
2 | -l
3 -3
x y
1 1
2 4
3 7
x y
4 | 10
6 7
8 4
X y
4 | 10
6 | 12
8 | 14

Virginia Department of Education 2018
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6. The graph represents the same relationship as which table of ordered pairs?

ol ¥
N
:
2
- . -
bbb i T N2 s 667
- X
| |
A.
Bl
g8 | 14
16
10 | 18
B.
=
8 | -18 2
20
10 | 22
C.
x |y
E[08|R18
9 | 16
8 | 14
D.
x |y
07|22
9 | 20
8 | 18

Virginia Department of Education 2018
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8.17

1. The perimeter of the fenced area shown is 260 meters. What is the measure of the side
that is labeled x in the figure shown? Explain your reasoning.

3x+10

2. The figure below shows the heights of Rebecca and her brother Daniel.

o, D irches
f Y Y

15h

What is Daniel’s height (h)?

3. Using the given key, write a multistep linear equation to represent the model. Then solve
and confirm your algebraic solution.

Key:

-1 W= 0000
noools

Virginia Department of Education 2018
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4. Mrs. Singh wrote this equation on the board.

1
—(2n-28)=10
Ak A

What is the solution to the equation?

A n=17
B. n=19
C. n=34
D. n=68

5. Solve the equation below for p.
S5p=21+2p

Cow»
— ] e D

6. What value for x makes this equation true?

1
—(x—-9)=x-23
2(x )=x

16
28
37
55

ohwp

7. Provide the algebraic sentence that would represent the verbal sentence, “ten less than
two-thirds of a number results in 15”.

Answer:

8. Provide the verbal expression that would represent the algebraic expression,
20x—3)+7.

Answer:

Virginia Department of Education
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8.18

1. What is the solution to4(2—x) > —(x—5)?

Last year the 8" grade students sold t-shirts during a fundraiser. Let t represent the number of
t-shirts sold last year. This year's 8" grade students would like to sell 40 more than twice the
number of t-shirts sold last year. This year’s sales should not exceed 250 shirts. What solution
set represents the possible number of t-shirts sold last year? Represent this situation using one
inequality statement and determine the solution set.

a) Represent the inequality:

Solution Set:

2. Look at the number line below.

Which two inequalities could represent the solution set shown?

Ll
P R P L L e
5 43 21 001 2 3 4 5
-4 ~26- !
(x+5)<-26-x 115(%“12 _%(x+4)<_1 -10<7x-18

3. Identify all numerical values that are part of the solution set for the following inequality.

A%=3 04 3x

Virginia Department of Education 2018
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-4 5 3.75

4 -3.75 0

4. What value for x makes the following inequality true? —% x-2<-13+17

A. -15
B. -16
C. -17
D. -18

5. The next step in solving the inequality —y < x +2 would be to divide both sides of the
inequality by -1. Which of the following would then be true?

A. x would remain positive.

B. 2 would remain positive

C. The inequality symbol would reverse direction
D. The inequality symbol would remain the same

6. Select the statement that correctly represents the inequality below.

Three times the quotient of a number and 2 increased by § is at most -12.

A. 3(3)+55—12
2

B. 3—""+55—12
2

C. 3(3J+52—12
2

D. 3—”+52—12
2

Virginia Department of Education 2018
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Grade 8

1

Harry ate 2 ofa pie. Where would this amount be found on a number
line representing the whole pie?

1 1
between 4 and 16
P -
between 4 and 16
9 5
between 16 and 8

7

5
between 16 and 8

What fraction could you place in the blank to make a true statement?

0.15 < < 85%

~ oy o W RS,
]

o~

41



Grade 8

Arrange the following in order from least to greatest.

3 3 Ja
10, 72.5%, 2°, 2,

33 43
2%, 2,10, , 72.5%

3 3
10, 72.5%, , 2, 2

3 34
10, 72.5%, 2, , 22

i 3 3
, 23,10, 72.5%, 2

Which lists all of the sets of the real number system to which the number
424 would belong?

real, rational, integers

integer, whole numbers, natural numbers

real, rational, integers, natural numbers

real, rational, integers, whole numbers, and natural numbers

Which set contains one irrational number?
{-4,0, 17}

1
{-2,1, 4}

{-3, V16, 5}
{0,3, 1}



Grade 8

8.2

6. Which is a Venn diagram that shows the relationship between the sets of
integers, rational numbers, real numbers, and irrational numbers?

rational

numbers integers

A
real e
numbers irrational
numbers
rational
numbers real
numbers
Integers irrational
numbers
real numbers
rational
numbers
C irrational
. numbers
integers
real numbers

rational
numbers

irrational
numbers

integers




Grade 8

8.3a
7. Which of the following best represents v24 ?

A number between-

3and 4.
4 and 5.
5 and 6.
6 and 7.

OOwW>»

)

3a
The square root of 95 is between which two consecutive whole numbers?

6and 7
7and 8
8 and 9
% and 10

oNom>» ®

9. What are the square roots of +289 ?

A 16and-18
B 17and-17
C -18and 18
D 19and-19

10. At a pizza restaurant, you order a large pizza for $12.95 and a soda for
$1.25. Sales tax is 4 ¥2%. What is the total of your bill including sales
tax?

A $14.25
B $14.65
C $14.84
D $18.70



8.4

11.

oOWm>

84

oOm>

8.5

13.

v Noll- -3

Grade 8

If the regular price is $85.00 and the discount rate is 10%, what is the
sale price?

$68.00
$75.00
$76.50
$84.15

. Jason'’s checkbook had a balance of $525.02 on May 5. On May 6, he

wrote a check for $107.65 at the grocery store. On May 8, he wrote a
check for $228.00 for his car payment. On May 9, his grandmother sent
him $55.00 and he deposited this in his account. What is the balance of
Jason’s account after this deposit?

$244.37
$334.37
$700.37
$915.67

What is the measure of £x?

70

10°
20°
65°
110°



Grade 8

8.5
14. What is the measure of £t ?

A 35°
B 65°
C 85°
D 115°

8.5
15. What is the measure of Zw?

]
=
A 4

A 32°
B 48°
C 52
D 180°



8.6a
16. What is the volume of the figure below?

Cone Pyramid
Sh = ar] + ar? SA-‘-%E{J-I-B
¥ = farh ¥ = 1Bh

16.75 cu. ft.
20.93 cu. ft.
83.73 cu. ft.
96.75 cu. ft.

(v NoR--IbJ

Grade 8
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Grade 8

8.6a

17. What is the total surface area of a pyramid with a square base with sides
of 25 cm, where the faces have a height of 20 cm?

Cone Pyramid
SA =gl + SA=1lp+B
v =tah ¥ = 1Bh

™
LA\ A

25cm
A 250 cm?
B 625cm?
C 1,000 cm?
D 1,625cm?



8.6b

18'

CO®>

Grade 8

A prism has a length of 15 cm, a width of 5 cm and a height of 20
centimeters.

ol
Sl

20 cm e

Scm

15cm

If the width of the prism is increased by a scale factor of 5, what will be
the change in volume?

increased by 3,000 cm?
increased by 4,000 cm3
increased by 5,000 cm3
increased by 6,000 cm3

What was done to AABC to produce ADEF ?
A B

v

<,

translation
rotation
dilation
reflection

A4
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Grade 8

8.7a
20. A right triangle is plotted (0, 0), (0, 4), and (5, 0) and then a scale factor
of 2 is applied to these coordinates. Which choice represents this

dilation?
X
12
11
10
9
8
7 ™N
6 N
5 \,\
4 P
Ty
: :
1
o ¥
A ) 1234 587 B 9101112
¥
12
11
10
- 9
8
7
8
5 P
N
4 <
3
2 Py
1 e
~
0 X
B 0 1234 58678 8101112

50



¥
12
11
10
g
8
Fi
5 %
5 \\
Ny
4 LM
; 2
1
. s
i 4 2 34 567 8 9101112

¥

12
11
10

g

8

7

PEAN

5 e

4
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Grade 8

8.9a

2{. The lengths of the sides of four triangles are given below. Using the
Pythagorean Theorem, which set of lengths forms a right triangle?

9,12, 15
5,12, 14
16, 30, 35
18, 36, 54

ooOowm>»

8.9a
22. Which segment is a hypotenuse?

C
A L B
D
A A
B CD
C IZB and @
D AC and BC
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8.9b
23, We want to find the distance from point A to point B. However, there is a
lake between the points. So, we measure the distance from point A to

point C and from point C to point B, as shown below. How far is it from
point A to point B?

A about 8.5 km
B about 11.3 km
C about13.2 km
D about 16 km
8.10

24. What is the distance around the outside of this figure?

10 cm

30.7 cm
35.7 cm
40.7 cm
45.7 cm

oOm>
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8.10
15. What is the area of the figure below?

A

A 36m
B 42m
C 48 m?
D h4m
8.10

24. What is the area of the figure below?

4 4
w 2"

A 32m
B 49m
C 2m
D 5m



Grade 8

8.14a
27. Evaluate 2x* + y(x+ 1), given x=5and y = 6.

A 56
B 62
C 86
D 136

8.14a
2% Evaluatea-2(b+ 2),ifa=20and b=8.

A 0
B 10
C 18
D 180

8.14b
29. Which expression is the same as 8y + 20?

8+20+y
2y + 20 + 6y
8(y + 20)
42y + 20)

oOw>

8.15a
30. Which could represent the following mapping algebraically?

.————P.
——

A Y=-(x+13)
B V=3(x+1)
¢ Vy=2x-1
p V={x-5



Use the relation below to answer the next two questions.

(5, 6), (4, 3), (1, 5), (3, 0)

8.15b
3\.. What is the domain of the relation?

A {6,350}
B {5413}
C {3,355}
D {5630}
8.15b

32. What is the range of the relation?

{2,1,-4,3}
{5, 4,1, 3}
{6, 3,5, 0}
{11,7, 6, 3}

oOw>

8.16a
33. What term describes the slope of this graph?

positive
negative
zero
undefined

DOw>
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Grade 8

8.16b
.2 5
34. What is the slope of the line defined by the equationy= 3x+ 3?
2
A 3
3
B 5
_3
C 5
_2
D 3
8.16¢

35 . Sarah made a table comparing the diameter to the radius of four circles.

Diameter [1.2 |25 (3.8 [4.1

Radius [0.6 |1.25 |19 [2.05

The equation that represents this information is D = 2r.
What statement is true about the variables D and r?

ris the independent variable and D is the dependent variable
D is the independent variable and ris the dependent variable
ris a function and D is not a function
D is a coefficient and ris an equation

ODOwW>
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8.16e
36, Which of the following tables corresponds to this graph?
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8.17

31. What is the solution for4(x+ 1) =8?

A X=1
e
B = 53
Ju3
c "2
D Xx=2
8.17

3¢. Solve the equation: 13 - 2x=-7

A x=3

B x=-3
C x=-10
D x=10

8.17

39 Kate called her grandfather iong- distance on Tuesday. The first 3

Grade 8

minutes cost $2, and each minute after that cost $0.50. How much did it

cost if they talked for 15 minutes?

$7.50
$8.00
$12.00
$15.50

oOm>
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8.18

40,

8.18

42.

oOmpP

Grade 8

Solve:

4y
= <8
3

y<6
y>6
y<8
y>8

. Solve the inequality: 5(1 - x) < 4(3 - x)

Which graph represents this inequality?

<

20 -15 -10
1 1 1 1 1 & ¢+ 1 | i1
¥ I 1T 7 1T 1T Y ¢§ 171 4« & & 1T 1
20 -15 -10
L1 . 1 3 1 N9 1 1 & &£ 3 ) 2 | |
T T 17T 1T 1T " ¢ 7§ & 1T 1T 1T°71
-10 -5 0
= = =
0 5 10

Mrs. Corbett rented a truck to move some furniture. The rental charge is
$60 plus $0.25 per mile. She wants to spend no more than $180, not
including tax. What is the maximum number of miles that she can drive
the truck?

85 miles

360 miles
480 miles
720 miles



